ES50RERETEFVEYYHI—KEU-10 3k JFAU101)—52023

BEF—L HEEEFC

U-10-6
NO| F—Lh | HEHEFC YScec #~IESC | SCHFC-B | FCTFS%/ | EMSC-Y | f#iE#ELsc| B 5 | BR| B K| msx| B
1 |#ERFC| % 1:35?10:58?03?00:23 ofaf17]11]6] 4
2| YSCC 3(_)1 ok 6?0 1:35?06?22:64 ol12]23]| 12|11 3
3 [ERTIESC 1 : 5] o0 : ol o : 7] 4 ? ol 1 : 4o : 6l 036|222 06
4SCH.FC—85(_)03(_)1 7(_)0 ¥ ”?03?0 161 5 1116|30] 2 | 28] 1
5F07’59/0:80:50:40:” Yo 0:90:80 oo olfas|-4s]7
6 | EMSC-Y 0 : sl 5 t ol a (_) o t N (_) o Yot o : , 2 o|6]15|20|-5] 5
7 |#EE#EdLSC ) (_) ol s (_) o6 (_) ol f e (_) ol 5 (_) o K% 5 1|16]30] 3 [27] 2
XEMRTT D TEFESDARALTTEL,
U-10-6 4 A 29 B (1) 735oFr% BEXIEEHELS—T5UF (5515
NO| FwiAT ¥ & U — J FE | BIE
1 13:00 EMSC-Y 2 — 6 YSCC #iE#4LsC| SCHFC-B
2 1340 HEEILSC 8 — 0 FCTS%/ YSCC |EMsC-Y
3 1420 1E/EEFC 0 — 5 SCH.FC-B FCF54/|fimsdsc
4| 15:00 #E4IESC 1 — 4 EMSC-Y SCHFC-B|#;E%FC
5| 15:40 YSCC 2 — 6 FEEILSC  |EMSC-Y|#E4igSC
6| 16:20 FCT34/ 0O — 8 FEREFC garigsc| vsce
7|  17:00 SCH.FC-B 7 — 0 EE~IESC #R%FclFcT54/
U-10-6 5 A 5 B @) Y5or% ERXEBEIS—TIF (5515
NO| FuuAT ¥ & U - J IE | BEIE
1 13:30 FEEEIESC 6 - 0 #54ESC FCT54/| Ysce
2| 14:10 FCT35%/ 0 - 9 EMSC-Y a4 IESC | rstsc
3 14:50 FEREFEFC 1 - 3 YSCC EMSC-Y |FCTS54/
4 15:30 SCH.FC-B 1 - 1 fEE#EILSC YSCC |HEH#FC
5 16:10 #BHrIESC 4 - O FCTS5%/ #Essc| SCHFC-B
6 16:50 EMSC-Y 0o - 3 FEERFC SCH.FC-B| #84I£SC
7 17:30 YSCC 1 - 3 SCH.FC-B }EEFC| EMSC-Y
U-10-6 5 A 7 B (B) Y5 F4 #ExiekMtrs—I50F 15-5-15
NO| FvioA D ¥ £ U — 45 FE EIES
1 9:00 SCH.FC-B 1 - 0 FCT3%/ YSCC |mmsstsc
2 9:40 YSCC 6 - O #B4IESC FCF54/|SCHFC-B
3| 10:20 HERFC 0o - 2 W E#EdLSC |#yigsc| Yysce
4 11:00 EMSC-Y 0 - 3 SCH.FC-B fRsdsc|#E%FC
5[ 11:40 FCT35%/ 0 - 5 YSCC SCHFG-B| EMSC-Y
6| 12:20 #B4igSC 1 - 5 FEESRFC EMSC-Y |FcTF54/
7]  13:00 fiREdLsC 7 -0 EMSC-Y RS FC| 4 IESC




